Math 172 Quiz 2 Name:

Sections: 7.2-7.3 Point values in | boxes {
28 September 2018

Given: sin{2z) = 2sinz cosz H sin® = (1—cos(2z))/2 “ cos® z = (1+4cos(22))/2 H /secx = In|secz+tanz|+C

1. Evaluate.
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2. For each of the following, state an appropriate trigonometric substitution. (Find z and dz).
Do not evaluate.
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Given: sin(2z) = 2sinz cosz H sin®z = (1—cos(2z))/2 H cos® z = (14cos(2z)),/2 H /sec:z: = In|secz+tanz|+C

3. If z = 2sin 6, use an appropriate triangle to evaluate sin (20) in terms of z.
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4, Evaluate.
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